
Roller Soaker 
1. If the cart is moving at 9.2 m/s and you want to take advantage of the soak‐the‐people‐

below‐!"#$%&'(#)&$"%$(*+,$)+-&.$'($/*'($*")+0"1('2$-+,('13&$4$,*"#2-$!"#$5#22$(*&$2&6&)7$
Assume that the water will be released from the maximum height of the ride h = 21 m. 

 

 

 

 

 

      y = y0 – gt  t  =_______________s 

      x = x0 + V0t + ½at
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2. If you are going around a turn (assume it is a perfect semi‐circle,) and you pull the lever to 
)&2&',&$'22$(*&$/'(&).$/*+3*$5'(*$/+22$(*&$/'(&)$('8&7$9:"(&;$<*+,$+,$'1$'&)+'2$6+&/.$2""8+1=$
straight down on the cart taking the turn.)  
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